B =R ARl

- R R H A0 (ug, ug, us) FIF 2210 (vy, v, vs) BIRIE A — ALK,
o
uy = (—1,6,4,7,-2)", us = (-2,3,0,5,-2)", uz = (-3,6,5,6,—5)",
vr = (1,1,2,1,-1)", vy = (0,-2,0, -1, —-5)", v3 = (2,0,2,1, -3)".

CERY R RAEM 2= (1,-1,1,1)Yy = (2,1,0,1), 7=, #
V= (z,y).

R 28] R/ VI — 23,

WV, WO RN IR YR A A]. E

dim(V x W) = dim(V') + dim(W).

WA Ax =0, A A e F™ x = (24,...,2,) F10,,
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BOX AN TR I 2= 6] 53 32 U F1 VIR
dim(V) > dim(U) — k.
. W Ae Fmn B e Frm AW
m — rank(E,, — AB) = n — rank(E,, — BA).
(ISR AHERE P, 2 WEHIRRI 45— % p. 103, 4521 9 IHR).
. (BEB) %A BeM,(F) H AB = BA. iE¥:
rank(A + B) + rank(AB) < rank(A) + rank(B).

(R85 R P AR 2 B AR J 2 RAIE ). )



